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Answer any six questions. Each question carries 2 marks.
7' Differentiate between gross working capitaf and net working capitar.
8' Why the wearth maximization goar is better than profit maximization goar ?
9. What is'arbitrage process ?
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10. 'Financial leverage is a two edged sword.' Comment.

11. Explain operating risk.

12. What is re-order level ?

13. List out the assumptions of Nl theory.

14. What is debtors'turnover ratio ?
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Calculate degree of operating leverage.

What are.the different forms of dividend ?

What are the responsibilities of a financial rnanager ?
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15. What are the motives of holdir:rg,caCh ?.=i .:n]

16. The annual demand foJ,,o pr-riduct is 1200 units. The cost of procurement is
Rs. 37.50 and carrying'Uos@unit is Re.u1*li,You are required to calculate EOQ.
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17. From the following informatienn,eald-1l3te finlncial leverage :
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Sales (1000 units) Rs. +;00,060 
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Variable costs ns' z'oQ{00 = 't:::'-:: '''' ""u'. \, ::::: *. ^:.".......-..- .Ji
Fixed costs Rs. 1 ,20,000. .,-,, n"

18.Thefol|owinginformationrelatero3fi|p'..'"i*'
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Sales units 1000 1500

Selling price per unit Rs. 10 Rs. 10

EB|T 1500 4500
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